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(APPLICATION ORIENTED COURSE)

APM- 1 : INTEGRATED PEST MANAGEMENT

Time : 3 hours	 Maximum Marks : 100

Note : Question No. 1 is compulsory. Attempt any eight
questions from questions no. 2 to 10.

1.	 (a) Define the following terms :	 5

Pest Complex

Biotic potential

Adjuvant

Quarantine

Antibiosis

(b) Expand the following abbreviations : 	 5

BHC

RADAR

NPV

LD50

(v) IFTK
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(c) Match the items given under Column I with	 5
those given under Column II :

Column I	 Column II
Sterile Insect technique	 (A) Termite
Cholinesterase inhibition (B) Diflubenzuron
Parasitoid	 (C) E.F. Knipling
White ant	 (D) Carbomates
Chitin synthesis inhibitor (E) Trichogramma

(d) Give the term for each of the following : 	 5
Pests capable of causing damage
throughout the year.

Apparatus used for application of dust
formulation of pesticides.
Pesticides of plant origin.

Crop planted to attract the pests away
from the main crop.

(v) Pests feeding on a single species of
plants.

2.	 Differentiate between the following pairs of terms : 10
Economic Injury Level (EIL) and Economic
Threshold Level (ETL).

Antifeedants and Repellents
Light trap and Suction trap
Stomach poison and Contact poison

(e) Physical and Mechanical methods of pest
control
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3.	 (a) Discuss advantages and limitations in the 	 5
use of insect resistant crop varieties.

(b) "During summers, increase in populations	 5
of mosquitoes and houseflies is a matter of
concern". Justify this statement and
comment upon the control measures of
mosquitoes and houseflies.

4.	 Write short notes on any two of the following : 	 10

Application of pheromones in IPM

Bt Cotton

(c) Sterile Insect Technique (SIT)

Explain any five major concepts of Integrated Pest	 10
Management (IPM).

(a) How is pesticide resistance developed in 	 5
insects ? Discuss various strategies to
manage it.

(b) How are Plant Health Clinics (PHCs) helpful
	

5
to the farmers ?

7.	 Name one pest of each of the following crops and 	 10
comment upon its nature of damage :

Paddy

Cotton

(c) Bhindi (Okra)

Mango

Sugarcane
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"Biological control is an essential component of 10
Integrated pest management (IPM)". Justify this
statement. What are the reasons for slow
adoption of biological control ?

(a) What are the different categories of 	 5
legislative control in force in different
countries ?

(b) What is an IPM module ? Discuss the IPM	 5
module for pulses.

10.	 (a) Why IPM is considered as a key component 	 5
of sustainable agriculture ?

(b) How models and information technology	 5
can shape the future of IPM ?
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